O O 0 W o NO U s~ bbS»SHwWNNPR PR

N NN RNRNNNNNNNRRRRRRRRRP R R B
O O U WNREP OOOOWOOBNOOU WNNIRRELROO

19002
18794
RO1121
19153
19150
19151
19152
17496
13175
FF8000
13163
14540
14550
14545
13171
13623
23908
23920
26429
26428
11390
19794
RO1121
18795
14677
14672
14673
14020
5796
29555
29590
29591
2805
13173
13175
1496
2805
13168
42559

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Efel Harmony 3 Qil Parts List

Access Plate Green H3 Qil
Protection Plate for Load Lid
Rope 8mm dia Glass Fibre

Top Plate-Cast Black

Top Plate Satin Black

Top Plate Harmony Il Oil

Top Plate-Brown

Washer Brass Front Door Hinge
Bracket Side Door

M8 Nut Full BZP

Side Panel - Left Cast Black
Side Panel-Left Satin Black
Side Door L/H Green Harmony 3
Side Door L/H Harmony Brown
Tie Rod Assembly - Left Side
Tie Rod H3 Oil/M/Fuel
Catalyser Support 8 inch MK2
Catalyser Support 1/2 Ring for
Catalyser 10 Mk2 New Style
Catalyser 8 inch Mk2 Single
Burner Gasket 6 and 8 Burner
Gasket-Burner 10 Inch

Rope 8mm dia Glass Fibre
Protection Plate - Top

Baffle Rear

Upper Support Black

Spigot Steel Flue Draught

Flue Draught Balancing Box
Flue Spigot Cast Black Toledo
Flue Spigot Satin Black

Flue Spigot-Green Harm | Qil
Flue Spigot-Brown Harm | Oil
Draught Stabilizer 5in al Efel
Protection Plate - Rear
Bracket Side Door

Clip Side Door Retaining
Draught Stabilizer 5in al Efel
Burner Protection Plate 10inch
Repair plate burner 10in H111


https://www.woodmanspartsplus.com/

26
27
28
28
28
28
29
30
32
33
34
35
36
37
38
40
41
42
43
43
44
44
44
44
45
46
47
48
49
50
51
52
52
53
53
54
54
54
54
55
56
56

42560
13623
13165
14542
14552
14547
14672
11818
15234
14169
14173
16403
16405
MS001
MS001
14678
12430
18839
33523
33524
13162
14539
14549
14544
RO138
28969
DRO17
MS2110
16149
14674
3082
18995
18745
18995
29928
14275
29330
14289
14285
31593
29551
32327

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Repair plate burner 8in H111
Tie Rod H3 Oil/M/Fuel

Front Part - Cast Black

Front Panel Satin Black

Front Part Green

Front Part Brown

Upper Support Black

Bracket - Valve Support
Breather Tube Coachman Oil
Washer - Door Handle Brass
Brass Knob Air Wash Slide [P]
Bracket Qil Control Knob

Rod - Qil Valve Operating
Knob Complete for Qil Stoves
Knob Complete for Oil Stoves
Glass Retainer Top H3 for
Nut Brass Domed 8mm Furnace
Hinge Pin - Graphite Stoves
Oil Burner 8 inch MK2

Oil Burner 10 Inch MK11 Single
Bottom Plate - Cast Black
Bottom Plate Satin Black
Bottom Plate Green H3 Oil
Bottom Plate Brown H3 Oil
Rope Seal Set H8 Oil Gas 24 25
Decoking Pipe

Control Cable Long 460mm
Split Cotter Pin 1 1/4"x3/32
Decoking Assembly

Heat Shield for Oil Valve
Latch Pin 4mm

Oil Valve 5.5cc-17.5cc Kero Cl
Oil Valve 7.5cc-24cc Kero Cl
Oil Valve 5.5cc-17.5cc Kero Cl
Oil Valve BM 7.5-24cc

Door Frame Cast Black

Door Furnace Front-Satin Black
Door Furnace Front Green
Door Frame Furnace Brown
Glass Seal Set H3 M/F Oil

Oil Valve Toby 5.5-17.5cc

Oil Valve Toby 7.5-24cc


https://www.woodmanspartsplus.com/

58
59
60
61
62
62
63
64
65
67
68
68
68
68
69
70
71
72
73
74
75
76
76
76
76
77
78
78
79
79
79
80
81
82
82
82
82
83
84
85
86
87

12699
14927
FF3001
19679
DRO19
DRO31
29351
13170
6088
5632
12246
29329
13491
12324
FF3001
28967
1504
112
2734
MS38548
20019
13164
14541
14551
14546
13172
40785
60429
FB161061
27441
27437
MS10000
19157
30676
30681
30683
30682
13479
31589
FF3000
20195
DRO17

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Glass Holder Side Coachman
Glass Strip 1st R/L H3

M3 Washer Plain BZP

Badge Efel Harmony/Coachman
Brass Channel Draught Control
Draught Control Assy H3/C'man
Brass Tube Door H3 Oil

Drip Tray H3 Oil

Foot Fixing Plate

Foot Spacer (under foot)

Foot Cast Black Harmony Range
Foot Satin Black H1 H2 Oil

Foot Green Harmony Range
Foot Brown Harmony Range
M3 Washer Plain BZP

Pipe Qil Valve Burner H3 QOil
Nut Oil Connection

Olive

Couplet Connection from QOil
Glove Red Leather Pair

Tool Riddling and Lifting

Door Panel R/H Side-Cast Black
Door Panel-Right Satin Black
Door R/H Side Green H3 Oil
Door R/H Side Brown H3 Qil
Tie Rod Assembly (right side)
Paint Spray Cast Black Stove
Paint Spray Insert Black

Touch Up Black Enamel

Touch up Brown Enamel

Touch Up Green Enamel

Timer Assembly cpl for Push
Mirror Complete 3 Glass Panels
Rear to Top Flue Adaptor

Top Flue Set-Green

Top Flue Set-Satin Black

Top Flue Set-Brown

Glass Retaining Clip Harmony
Glass Seal Set H Oil/Coal/Wood
M3 Nut Full BZP

Button Cap - Push Ignition
Control Cable Long 460mm


https://www.woodmanspartsplus.com/

87
88
89
90
90
91
92
92
93
93
94
94
95
95
96
97
98
99
99
100
100
101
101
102
102
103
103
104
104
105
105
106
106
107
107
108
109
111
112
113
114
114

DRO31
20194
DRO31
DR0O31
FF3002
28053
DR0O31
FF3000
MS1121
MS1120
DRO31
DRO15
DRO31
DRO14
29485
29482
26796C
DRO31
DRO11
DRO31
DR0O21
DRO31
DRO12
DRO31
DRO10
FF253
FF4000
DRO31
DRO12
DRO31
DRO13
DRO31
FF3019
DRO31
FF3000
31756
FF5042
19679
FF5042
339
3112
3111

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Draught Control Assy H3/C'man
Switch Less Button Ignition
Draught Control Assy H3/C'man
Draught Control Assy H3/C'man
M3 Washer Spring

Ignition Indicator Light

Draught Control Assy H3/C'man
M3 Nut Full BZP

Transformer Kit all Models
Transformer Kit Run Back Timer
Draught Control Assy H3/C'man
Magnet Anisotropic Small
Draught Control Assy H3/C'man
Magnet Anisotropic Large
Ignition Port Gasket for Guide
Ignition Port Guide(swan neck)
Igniter Qil Stove inc. Gasket
Draught Control Assy H3/C'man
Cam Draught Stabilizer

Draught Control Assy H3/C'man
Actuator Shaft End Cap
Draught Control Assy H3/C'man
Spindle Cable Actuator

Draught Control Assy H3/C'man
Sub Frame Draught Stabilizer
Bolt M4 x 8mm UHL S/Steel

M4 Nut Full BZP

Draught Control Assy H3/C'man
Spindle Cable Actuator

Draught Control Assy H3/C'man
Spring Return Mechanism
Draught Control Assy H3/C'man
M3 x 8 mm Bolt Hex Head
Draught Control Assy H3/C'man
M3 Nut Full BZP

Power Cord Qil Stove UK Spec
M5 x 10 Pozi Pan S/Steel

Badge Efel Harmony/Coachman
MS5 x 10 Pozi Pan S/Steel
Catalyser Suits 8 & 10 inch
Catalyser Support Ring 8 inch
Catalyser Support Ring 10 Old


https://www.woodmanspartsplus.com/

115
115

13
15
16
17
18
19
20
20
20
20
21
22
23
24
25
26
26
26
27
28
28
28
28
29
30
32
33
34
35
36
37
38
40
41
42
43
43
44

201
192.

RO1121
18795
14677
14672
14673
14020
5796
29555
29590
29591
2805
13173
13175
1496
2805
13168
42559
42560
13623
13165
14542
14552
14547
14672
11818
15234
14169
14173
16403
16405
MS001
MS001
14678
12430
18839
33523
33524
13162

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Burner Shell 8 inch MK1
Burner Shell 10 inch MK1

Rope 8mm dia Glass Fibre
Protection Plate - Top

Baffle Rear

Upper Support Black

Spigot Steel Flue Draught

Flue Draught Balancing Box
Flue Spigot Cast Black Toledo
Flue Spigot Satin Black

Flue Spigot-Green Harm | Qil
Flue Spigot-Brown Harm | Qil
Draught Stabilizer 5in al Efel
Protection Plate - Rear
Bracket Side Door

Clip Side Door Retaining
Draught Stabilizer 5in al Efel
Burner Protection Plate 10inch
Repair plate burner 10in H111
Repair plate burner 8in H111
Tie Rod H3 Oil/M/Fuel

Front Part - Cast Black

Front Panel Satin Black

Front Part Green

Front Part Brown

Upper Support Black

Bracket - Valve Support
Breather Tube Coachman Oil
Washer - Door Handle Brass
Brass Knob Air Wash Slide [P]
Bracket Oil Control Knob

Rod - Qil Valve Operating
Knob Complete for Oil Stoves
Knob Complete for Oil Stoves
Glass Retainer Top H3 for

Nut Brass Domed 8mm Furnace
Hinge Pin - Graphite Stoves
Oil Burner 8 inch MK2

Oil Burner 10 Inch MK11 Single
Bottom Plate - Cast Black


https://www.woodmanspartsplus.com/

44
44
44
45
46
47
48
49
50
51
52
52
53
53
54
54
54
54
55
56
56
58
59
60
61
62
62
63
64
65
67
68
68
68
68
69
70
71
72
73
74
75

14539
14549
14544
RO138
28969
DRO17
MS2110
16149
14674
3082
18995
18745
18995
29928
14275
29330
14289
14285
31593
29551
32327
12699
14927
FF3001
19679
DRO19
DRO31
29351
13170
6088
5632
12246
29329
13491
12324
FF3001
28967
1504
112
2734
MS38548
20019

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Bottom Plate Satin Black
Bottom Plate Green H3 Oil
Bottom Plate Brown H3 Qil
Rope Seal Set H8 Qil Gas 24 25
Decoking Pipe

Control Cable Long 460mm
Split Cotter Pin 1 1/4"x3/32
Decoking Assembly

Heat Shield for Qil Valve

Latch Pin 4mm

Oil Valve 5.5cc-17.5cc Kero Cl
Oil Valve 7.5cc-24cc Kero Cl
Oil Valve 5.5cc-17.5cc Kero CI
Oil Valve BM 7.5-24cc

Door Frame Cast Black

Door Furnace Front-Satin Black
Door Furnace Front Green
Door Frame Furnace Brown
Glass Seal Set H3 M/F Qil

Oil Valve Toby 5.5-17.5cc

Oil Valve Toby 7.5-24cc

Glass Holder Side Coachman
Glass Strip 1st R/L H3

M3 Washer Plain BZP

Badge Efel Harmony/Coachman
Brass Channel Draught Control
Draught Control Assy H3/C'man
Brass Tube Door H3 Oil

Drip Tray H3 Oil

Foot Fixing Plate

Foot Spacer (under foot)

Foot Cast Black Harmony Range
Foot Satin Black H1 H2 Oil
Foot Green Harmony Range
Foot Brown Harmony Range
M3 Washer Plain BZP

Pipe Oil Valve Burner H3 Qil
Nut Oil Connection

Olive

Couplet Connection from Qil
Glove Red Leather Pair

Tool Riddling and Lifting


https://www.woodmanspartsplus.com/

76
76
76
76
77
78
78
79
79
79
80
81
82
82
82
82
83
84
85
86
87
87
88
89
90
90
91
92
92
93
93
94
94
95
95
96
97
98
99
99
100
100

13164
14541
14551
14546
13172
40785
60429
FB161061
27441
27437
MS10000
19157
30676
30681
30683
30682
13479
31589
FF3000
20195
DRO17
DRO31
20194
DRO31
DRO31
FF3002
28053
DRO31
FF3000
MS1121
MS1120
DRO31
DRO15
DRO31
DRO14
29485
29482
26796C
DRO31
DRO11
DRO31
DR0O21

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Door Panel R/H Side-Cast Black
Door Panel-Right Satin Black
Door R/H Side Green H3 Oil
Door R/H Side Brown H3 QOil

Tie Rod Assembly (right side)
Paint Spray Cast Black Stove
Paint Spray Insert Black

Touch Up Black Enamel

Touch up Brown Enamel

Touch Up Green Enamel

Timer Assembly cpl for Push
Mirror Complete 3 Glass Panels
Rear to Top Flue Adaptor

Top Flue Set-Green

Top Flue Set-Satin Black

Top Flue Set-Brown

Glass Retaining Clip Harmony
Glass Seal Set H Oil/Coal/Wood
M3 Nut Full BZP

Button Cap - Push Ignition
Control Cable Long 460mm
Draught Control Assy H3/C'man
Switch Less Button Ignition
Draught Control Assy H3/C'man
Draught Control Assy H3/C'man
M3 Washer Spring

Ignition Indicator Light

Draught Control Assy H3/C'man
M3 Nut Full BZP

Transformer Kit all Models
Transformer Kit Run Back Timer
Draught Control Assy H3/C'man
Magnet Anisotropic Small
Draught Control Assy H3/C'man
Magnet Anisotropic Large
Ignition Port Gasket for Guide
Ignition Port Guide(swan neck)
Igniter Qil Stove inc. Gasket
Draught Control Assy H3/C'man
Cam Draught Stabilizer
Draught Control Assy H3/C'man
Actuator Shaft End Cap


https://www.woodmanspartsplus.com/

Woodman'’s Parts Plus
www.woodmanspartsplus.com

101 DR0O31 Draught Control Assy H3/C'man
101 DRO12 Spindle Cable Actuator

102 DR0O31 Draught Control Assy H3/C'man
102 DRO10 Sub Frame Draught Stabilizer
103 FF253 Bolt M4 x 8mm UHL S/Steel

103 FF4000 M4 Nut Full BZP

104 DR0O31 Draught Control Assy H3/C'man
104 DRO12 Spindle Cable Actuator

105 DR0O31 Draught Control Assy H3/C'man
105 DRO13 Spring Return Mechanism

106 DR0O31 Draught Control Assy H3/C'man
106 FF3019 M3 x 8 mm Bolt Hex Head

107 DRO31 Draught Control Assy H3/C'man
107 FF3000 M3 Nut Full BZP

3.

59 14927 Glass Strip 1st R/L H3

60 FF3001 M3 Washer Plain BZP

61 19679 Badge Efel Harmony/Coachman
62 DRO19 Brass Channel Draught Control
62 DRO31 Draught Control Assy H3/C'man
63 29351 Brass Tube Door H3 Oil

64 13170 Drip Tray H3 Oil

65 6088 Foot Fixing Plate

67 5632 Foot Spacer (under foot)

68 12246 Foot Cast Black Harmony Range
68 29329 Foot Satin Black H1 H2 Oil

68 13491 Foot Green Harmony Range

68 12324 Foot Brown Harmony Range

69 FF3001 M3 Washer Plain BZP

70 28967 Pipe Oil Valve Burner H3 Qil

71 1504 Nut Oil Connection

72 112 Olive

73 2734 Couplet Connection from Qil

74 MS38548 Glove Red Leather Pair

75 20019 Tool Riddling and Lifting

76 13164 Door Panel R/H Side-Cast Black
76 14541 Door Panel-Right Satin Black

76 14551 Door R/H Side Green H3 Oil

76 14546 Door R/H Side Brown H3 Oil

77 13172 Tie Rod Assembly (right side)

78 40785 Paint Spray Cast Black Stove


https://www.woodmanspartsplus.com/

78
79
79
79
80
81
82
82
82
82
83
84
85
86
87
87
88
89
90
90
91
92
92
93
93
94
94
95
95
96
97
98
99
99
100
100
101
101
102
102
103
103

60429
FB161061
27441
27437
MS10000
19157
30676
30681
30683
30682
13479
31589
FF3000
20195
DRO17
DRO31
20194
DRO31
DRO31
FF3002
28053
DRO31
FF3000
MS1121
MS1120
DRO31
DRO15
DRO31
DRO14
29485
29482
26796C
DRO31
DRO11
DRO31
DR0O21
DRO31
DRO12
DRO31
DRO10
FF253
FF4000

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Paint Spray Insert Black

Touch Up Black Enamel

Touch up Brown Enamel

Touch Up Green Enamel

Timer Assembly cpl for Push
Mirror Complete 3 Glass Panels
Rear to Top Flue Adaptor

Top Flue Set-Green

Top Flue Set-Satin Black

Top Flue Set-Brown

Glass Retaining Clip Harmony
Glass Seal Set H Qil/Coal/Wood
M3 Nut Full BZP

Button Cap - Push Ignition
Control Cable Long 460mm
Draught Control Assy H3/C'man
Switch Less Button Ignition
Draught Control Assy H3/C'man
Draught Control Assy H3/C'man
M3 Washer Spring

Ignition Indicator Light

Draught Control Assy H3/C'man
M3 Nut Full BZP

Transformer Kit all Models
Transformer Kit Run Back Timer
Draught Control Assy H3/C'man
Magnet Anisotropic Small
Draught Control Assy H3/C'man
Magnet Anisotropic Large
Ignition Port Gasket for Guide
Ignition Port Guide(swan neck)
Igniter Qil Stove inc. Gasket
Draught Control Assy H3/C'man
Cam Draught Stabilizer
Draught Control Assy H3/C'man
Actuator Shaft End Cap
Draught Control Assy H3/C'man
Spindle Cable Actuator

Draught Control Assy H3/C'man
Sub Frame Draught Stabilizer
Bolt M4 x 8mm UHL S/Steel

M4 Nut Full BZP


https://www.woodmanspartsplus.com/

104
104
105
105
106
106
107
107
108
109
111
112
113
114
114
115
115
116
118
119
120

DRO31
DRO12
DRO31
DRO13
DRO31
FF3019
DR0O31
FF3000
31756
FF5042
19679
FF5042
339
3112
3111
201
192.
30729
14928
14929
MS90741

Woodman'’s Parts Plus
www.woodmanspartsplus.com

Draught Control Assy H3/C'man
Spindle Cable Actuator

Draught Control Assy H3/C'man
Spring Return Mechanism
Draught Control Assy H3/C'man
M3 x 8 mm Bolt Hex Head
Draught Control Assy H3/C'man
M3 Nut Full BZP

Power Cord Qil Stove UK Spec
M5 x 10 Pozi Pan S/Steel

Badge Efel Harmony/Coachman
M5 x 10 Pozi Pan S/Steel
Catalyser Suits 8 & 10 inch
Catalyser Support Ring 8 inch
Catalyser Support Ring 10 Old
Burner Shell 8 inch MK1

Burner Shell 10 inch MK1

Glass H3 Oil 5mm

Glass Strip Harmony 2nd>Side
Glass Strip Harmony 3rd>Side
Coal Kit 10in H3 Wedge Shaped


https://www.woodmanspartsplus.com/

